Economics 330

Spring 2003

Week 5 Answers

.

1.  There are three cases to consider, each starting from some initial long run equilibrium interest rate i1:

Case 1:  The liquidity effect is larger than the income, price level, and expected inflation effects

In this case, the interest rate initially rises above i1 due to the liquidity effect.  Over time, the price level, income, and expected inflation effects bring the interest rate back down slightly but once all adjustment occurs the interest rate remains permanently higher than i1.

Case 2:  The liquidity effect is smaller than the other effects and there is slow adjustment of expected inflation.

In this case, the liquidity effect again causes the interest rate to initially rise above i1.  Given enough time, the income, price level, and expected inflation effects kick in and push the interest rate back down.  Since these three effects are larger than the liquidity effect, they are enough to push the interest rate below i1.  The interest rate therefore settles at a new long run value that is lower than its starting position.

Case 3:  The liquidity effect is smaller than the expected inflation effect and there is fast adjustment of expected inflation.

In this case, both the liquidity effect and expected inflation effect move the interest rate immediately, albeit in different directions.  Since the expected inflation effect is the stronger of the two effects, the interest rate initially falls.  Later, when the income and price level effects begin, there is further downward pressure on the interest rate.  Hence, the interest rate settles at a lower value than where it started.

2.  The four factors in the economic environment that can lead to a substantial deterioration of firms’ balance sheets, worsen the adverse selection and moral hazard problems, and eventually lead to a financial crisis are:


1) A sharp decline in the stock market


2) An unanticipated decline in the aggregate price level


3) An unanticipated depreciation of the domestic currency


4) A rise in interest rates that reduced cash flow

Details on how these four factors can affect firms’ balance sheets is in Mishkin, starting on page 200 under “Asset Market Effects on Balance Sheets” and continuing onto pages 201 and 202.

The four factors that have triggered most financial crises in the United States are:


1) A Deterioration in Banks’ Balance Sheets


2) An increase in interest rates


3) A stock market decline


4) An increase in uncertainty

See the discussion in Mishkin beginning on page 202.

3.  How do standard accounting principles required by the government help financial markets work more efficiently? 

The answer to this question is provided on page A-4 of Mishkin, but I reproduce it below for your convenience:

Standard accounting principles make profit verificationn easier, thereby reducing adverse selection and moral hazard problems in financial markets and hence making them operate better.  Standard accounting principles make it easier for investors to screen out good firms from bad firms, thereby reducing the adverse selection problem in financial markets.  In addition, they make it harder for managers to understate profits, thereby reducing the principle-agent (moral hazard) problem.

4.  How does the free-rider problem aggravate adverse selection and moral hazard problems in financial markets?

As described in Mishkin on page 189, one partial solution to the problem of lenders (purchasers of securities) having less information than borrowers of funds is to have private companies collect and produce information that helps lenders distinguish between good and bad firms selling securities.  The free rider problem arises here when some people purchase the information about firms and the people that do not purchase it take advantage of the information the others have paid for.  Lenders who have purchased information will purchase securities from high quality, undervalued firms and in doing so will reveal to free-riding investors which firms are the ones they should invest in.  If many investors free ride, this will push up the price of good firms’ securities and make it less profitable to purchase information in the first place.  If many investors find it unprofitable to purchase information, then it may not be gathered and produced by private firms:  “The weakened ability of private firms to profit from selling information will mean that less information is produced in the marketplace, and so adverse selection (the lemons problem) will still interfere with the efficient functioning of securities markets” (Mishkin, p. 189).

As decribed in Mishkin on page 194, free riding can also aggravate the moral hazard problem.  The principle-agent problem is a problem of moral hazard that occurs because managers have more information about their activities and actual profits than stockholders do.  Stockholders can partially overcome this problem by spending time and money on frequent audits of the firms they have invested in and closely monitoring what management is doing.  Similar to the adverse selection case, free riding can reduce the amount of information about managment and firm activities produced by stockholders through costly audits or other forms of monitoring.  Each stockholder will be unwilling to invest in monitoring activities, preferring to free ride on the monitoring expenditures of other stockholders.  If all stockholders think this way, however, none of them will invest in monitoring and little or no information about management and firm activities will be produced.  Less information for stockholders means the moral hazard problem will be aggravated.  

5.  The firm’s financial statement:

Total Revenue



$10 000

Expenses


Wage Expense

$7 000


Other Expenses
$1 000
Total Expenses


$8 000

Net Income



$2 000

Less:  Dividends Paid


$1 000

Retained Earnings


$1 000

The household’s income statement:

Expenditures




Receipts

Consumption

$6 000


Wage Income 

$7 000

Savings

$2 000


Dividend Income
$1 000
Total Expenditures
$8 000


Total Receipts

$8 000

The household is saving funds ($2 000), so we know that the firm cannot also be saving in this period.  Furthermore, the loanable funds market is in equilibrium, so SLF = DLF.  Thus, the firm must be demanding the $2 000 that the household is supplying to the loanable funds market.  Since it is not saving its retained earnings of $1 000, it must be making investment expenditures of $3 000 this period, the sum of the $2 000 obtained from the household and its $1 000 retained earnings.

